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HOME SCIENCE
PAPER - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  The active form of Vitamin D is : d
(1) Ergosterol (2)  Ergocalciferol J f
(3) Cholecalciferol (4)  Dihydroxycholecalciferol ¢
L '
1" (
2.  Following food is the richest source of w-3 fattly,,.a'cids D
(1) Coconut (2) Flax seed ,.*"23) IOliveé (4) Groundnut
| \ /
3. Alacarte menu is: {é 4

-

1)  Served on a particular day as special f

't o
3) Choices of items listed, Wid’l its price

(1)
(2) Limited choice of fixed price J‘r
)
(4)

Series of dishes repeated after a period of time.

-

{
|
4.  Which of the following is a theory of origin of clothing :
(1) Protectioft (2) Conformity (3) individuality (4) Track down

a

5.  Organization responsible for preventing unfair or deceptive trade practices in textile and
textile products is :

(1) AATCC
(2)III' d Federal Trade Commission (FTC)
(3) " Textile Fibre Products Identification Act (TEPIA)
(4) ASTM
s [N :
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fder: 3@ yvaa A vE (50) Tg-Tawedia w9 ¥ 1 USE W9 F 91 (2) A T 1 At w9 fad €

1. foafm € =1 frania wq € -
(1) STERIa (2) TN Hfcawria
(3) HIARCHRIA (@) feeegt o Hfearia

f

2. Fretferfan & & for ar T o - 3 S e T SEE A G A
(1) TR (2) rerHl % W I,(él)( ST (4) et

3. UM =L HqT: ‘Hj
(1) T faftre feedw oo S € . -
(2) @ﬁﬁaﬁawmﬁawﬁ@w%
3) Wwﬁﬁwﬁmiﬁqﬁmawmﬁ%fmﬁaﬁ%
)

(4

TrErverY FHR FB HIAIR & o1 el 9 §

{ -
4. Fretfefaa 3 % 6 ¥ g 1 foar A E2
(1), Tan 9 4 (2) STIFHard (3) TSt fammoan (4) H-TA

5. waﬁtwﬁwgﬁﬁrmfmwﬁajﬁmawwwgmﬁﬁﬁaﬁ%mﬁtﬁmw
DI 7 ?

1) T A
@)\, e 72 e
(3) I WIER UIeHRy SEESIERE TR
(4) TEEdT
pass [ NN ; paperc
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6.  The pictorial view of the proposed house is called :

(1) Elevation plan (2)  Cross section plan

(3) Perspective plan (4) Floor plan
7.  Development resulting from on going exchanges between heredity and all levels of the

environment is called : &

(1) Cephalocaudal (2) Proximodistal (3) Genotypical 4) Epigenes-iéi '

lp' [

8.  Extension uses which of the following as a tool to motivate people to change their behaviour ?

(1) Social work (2) Communication (3) Diagnosis 5 E-(4) Analysis

A -
f i

9.  Which one of the following models use orr"lﬂy three elements to explain the process of

communication ? f [

(1) Westley and Machlean’s model (2) Berlo’s m{)del :

(3) Leagan’s model LN C) Aristotl¢’s model

<l
Vi )

10. Since the population size is.always larger than the sample size, the sample statistic :

(1) Can never be larger than the population parameter

(2) Can never be sfnalleli than the population parameter

(3) Can never be equal to the population parameter

(4) None of the above answers is correct.
11. Following are disorders of vitamin A deficiency :

(i) Xeropthahlnia (i) Night Blindness (iii) Oesteoporosis

i

(iv)., Cretinism (v) Kerotomalacia

Codé T

(1) (i), (iv)and (v) (2) (), (diii) and iv) (3) (@), (i) and (v) (4) (i), (iii) and (v)
yaass AN ‘
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6. TEfad A H1 Farscash T FHgeran §
(1) Ueafes F=Rm (2) whiF HRE TR
(3) < ST e (4) TCE/S) ST TR/ e TR

7.  SIIER N T Srarensl o Gt T % o9 SeH - YoM & Horsawy gy T i ?hsd'%\‘ :
(1) Ehallhisd (2) WirHfeRa  (3) SHifedisna (4) iy
[

8.  foreir fore o foft <h1 el il & SHeER H were M % fore Fw & 2
1) 9wfss w&  (2) FIR (3) fe=m { " %W?w
A ' |
9. frAfAfEd or % wiedl § ¥ $H 91 Aiedd Hag diF dedl /BT TR FfRaT hl HHET 77
(1) JEa-Hhdl= dred 2) ’r Al |

(3) fam Atea 4) W”Tfﬁ _ 2
‘I"\.

( .
10. WWWWW$WWW%WWW :

) Tl Tew @ we T T @ §
) e T & S T A E
(3) Wmﬁm%ﬂﬁﬁ@m%
) ST T A FE T A R

g
@

4

11. Tr=fafed faerfas ‘o =t w6 & faar € .

(i), SR (i) e (iii) =R
(iv) AT (v) HEmEn
=T
(i), (iv) SR (v) (2) (), (iii) 3R (@v)  3) (), () IRV) (@) (), (i) IR (v)

(1) (i), (iv) )
s AN

6]
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12.

13.

14.

15.

16./

vns [ JEHATENN

Following foods have Glycemic Index less than 50% -

(i) Soya bean (i) White Wheat Bread (iii) Apple
(iv) Boiled Rice (v) Methi
Code :

(1) (), (i) and (v) (2) (i), (iii) and (iv) (3) (i), (iii) and (iv) (4) (i), (iii) at}d v)

Ty

Architectural features of a Kitchen will include : ,.(" .
(i)  ventilation (ii) Plumbing (i) Acousticd f
(iv) BARS (v)  Floor d

Code : 41, f

1

(1) Q) @), (v), @ (@) @636, (v) (@) () (111) ), @) (i), @), 0,0

’ N

; .

Which of the following are not dart equlvalents ? ]

(i) Control seam  (ii) Ruffles (iii) ar}& (iv) Gathers

Code : £

(1) (i) and (ii) (2) (i) andxaii} (3) (ii{) and (iv) (4) (i) and (iv)

\ 1:'“ <

Which of the following fibres-are obtained from plant leaf.

(i) Pina . (i) Sisal (iii) Kapok (iv) Coir

Code : { :{

(1) (i) and (ii)! (2)  (ii) and (iii) (3) (iii) and (iv) (4) (i) and (iv)
"

One can bring cﬁfng‘qs in hand and body motions through.
(i)  Elimination of unnecessary movements

(ii) . Developing skills

(iif) Adopting a comfortable posture

(1v3  Improving sequence of work.

Code
(1) (), (i) and (iii) (2) (i), (iii) and (iv) (3) (i), (iii) and (iv) (4) (i),(ii),(iii) and (iv)

=)}
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12. fr=fafed @ e & fafafrs s9esm 50 sfva w0 € -

() EEeE (i) T H IS (i) ¥=

(iv) 39 =mEd (v) Tt

e :

M @) @) @ @) @) I GE) @) @) (@) I Gv) @) ) () TR )
13. TR & argiieda smefa § frefatea miba € { s

()  argEEe (i) oSt (i) oo

(iv) SNTARTH (v) ¥

e : d { .

M 06060 @ OG0 G (), ) (), (1), (@) (D) (1), 0,
14. fr=fafed § & a8 e° waged & €2 f __

OEERERELESICE] (i) & - & (iii) %?'(w) (iv) T=e

(D) (@) ¥ () () (i) 3R g ® e @ o
1. ﬁwﬁr@aﬂ@ﬁamﬁqﬁ%%w@wmmav

(@) fo . () faws (i) TR (iv) I

He : { J{

1) (i) 3T (i) | (2) (i) 3R (iii) (3) (i) 3R (iv) 4) (i) 3R (iv)

‘4

16./ 719 T <E I A ﬁt,iﬁ#di‘@ﬁqq 7§ fras IR afRedq o1 g €2

()  SFERFe el i faqa w

(i) .. SIoe foefaa wm

(i) XA 341'73"[ (= fearfd) 1 STo

(iv) JFH % FATHA H GUR A

Wi '

(i), (i) R (iiD) (2) (i), @) FRGv) @) @), (D) IR GAv) (@) (0) (i), (i) FR (iv)

s \||H||H||H\ LRI 7
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17. The major characteristics of high quality child care include.

(i) air conditioners are important

(i) Carers are well trained

(iii) Materials and activities are age appropriate

(iv) Computers are used

(v) Health and safety standards are high f

Code : ; f; ‘

M) Gi), (v, ) @ Q)G 6 @) @) 66 @) ) ) ()
18.  The functional literacy programmes aim at enabling illiterate adults to acqui;‘e basic skills in:

(i) Reading (i) Writing (@)™ Arith;'neticq'

(iv) Vocation (v) Organisatic:fpff’ < |'

Code : r_"' \ .Ju'

(1) (@), (), (iii) and (iv) 2) | (i), (ii‘, (i) and (v)

(3) (i), (), (iv) and (v) @) @) G, K)> and (v)

A (

19. Effective Development Commur{k'caij'on is influenced by which of the following factors ?

(i) Dissemination of Informlaion  (ii) Use of the Information by users

(iii) Location of the users . (iv) Size of the audience

Code : 1 .

(1) (@) and (ii) i' (2) 1+ (ii) and (iii) (3) (i) and (iv) (4) (i) and (iv)
20. An experime;ltgL research design incorporates

(i) Random as ignl"ment of participants to treatment conditions

(ii) Effect on a dependent variable recorded

(iii)= Observe p1acebo effect

(iv) Manipulation of independent variable

(V)Ik J Increase attrition

Code ¥

O 066 @ )66 @) @) ,0 @ 66 6w
yaass AN 8
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17.

18.

19.

20.

1)
s ]

=4 TUTE ST SEAT 1 g faean §

(i) STAE HEwUl ¢ |

(i) <@ HA 3T iferd 2 e |

(iii) wETef T foRATd ST STER & |

(iv) HFHY AT TN AT

(v) T TE A TR S e f

e L
1) (), @v), (v)  (2) (i), (i), (v) (3) (1), (i), (iii) (4) g (), (iv), (v)r

HTATCTE TR FRIHH H Ie3d JAYd FIvA I e § Frefafed 58 frad fRer gl =
ol SR (-

() A (i) @A // (i.ii) ,, S ERIG] li
(iv) ISR v "meT .'I

E T I _.-’

1) (), (i), (i) 3 (iv) @) (i), (ii), d@‘v) ¥R (v)

(3) (i), (i), (iv) ¥ (v) & o) <rﬂi> #R()
oot S S e e e e

(i) &R & TER ._H (i) SN gRI SRR T TN
(iti) ST % TE BT T (iv) i T e

%< {

1) (1) R (i) | 2) (i) 3R (i) (3) (i) 3R (iv) 4) (i) ¥R (iv)

"
r,mm@ammﬁamwmm%?
L @) R N ¥ wfaenf w1 gt e

(i) ST =) W TS Al GHE Rl TS HEAT
(i) TS THTE T G&T0T BT

(iv) T T A T

(v) ¥ o H g

e |

(), (i), (v) (i), (iv), (iii) (3) (i), (iv), (v) @) (@, (), i)

i), ()
T

O
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21. Assertion (A) : In chronic Renal failure glomerular filtration rate falls to less than
15 ml/min.
Reason (R) : The chronic Renal failure patients are recommended diets high in protein
and sodium.
Code :
(1) (A) is correct and (R) is incorrect (2) (R) is correct and (A) is incorrect
(3) Both (A) and (R) are incorrect (4) Both (A) and (R) are correct :
f
22. Assertion (A) : Persons with BMI between 18 - 25 Kg/m? are classified as obese. { ’
Reason (R) : Reduced physical activity and high intake of junk foods leads to obefsity.
Code : )
(1) Both (A) and (R) are correct (2) Both (A) and (R) are incorrect f
(3) (A) is incorrect and (R) is correct (4) (R) is incoerrect a;id (A) is correct
/.4’ .
23. Assertion (A) : A system can be stated to b;a" a set of intlérdependent parts.
Reason (R) : A system is based on demand pulljrather than supply push.
Code : ‘ ﬂj
(1) Both (A) and (R) are incorrect ; . y
(2)  (A) is correct but (R) is incorreet f
(3) (A) is incorrect but (R) is qrrtfct
(4) Both (A) and (R) are cofirqpt but (R) is not the correct explanation.
24. Assertion (A) : While washing woollen garments kneading and squeezing method is used.
Reason (R) : Scaly structure of wool cause felting due to friction.
Code : . {
(1) Both (A) gnd (R) are incorrect
(2) Both (A) and (R) are correct and (R) is the correct explanation.
B) (A)is corre?t bﬁt (R) is not the correct explanation
(4) (A) is incorrect but (R) is correct.
25. Assertion (A) : ! Terry Towel is the most absorbant fabric structure
Reason (R) ¢ Itis a cut pile hence more surface area to absorb water.
Code :
(1) Both (A) and (R) are correct (2) Both (A) and (R) are incorrect
(3) (A) is correct, but (R) is incorrect (4) (A) is incorrect, but (R) is correct.
s [N 1
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21. AfUReT (A):  FIfE e ek § oo freeea wifa 15 i, /e & & & oIt €

e (R) ;ST el HhereR o I 1 STefter A B WIS IR WISy g9 SRR 1 WRel
ERIEIGIES

< :
(1) (A) ¥ § 3R (R) T &1 2) (R) T T 3R (A) To@ T
(3) (A) 3 (R) ST 378 T (4) (A) 3 (R) I wE €

22. 3fueRe (A) : 18-25ﬁ.m/nﬁ.2aﬁaﬁ.@.aq1§.a1ésqﬁa%(aﬂaﬁﬂ)wﬁ%u‘;~
e (R) . T VIR BRA 6N st STk e % o % FRO Tegdr Bt 81 |
Ed-:(A)E’ﬁ'{(R)@:ﬁﬂﬁ%l Q) (A) 3R R) S T B .
(3) (A) e ¥ o (R) T €1 (4) ()ﬂﬁ%zﬁz(n)wa%n

23, MURAT (A) : TH LA (AT TA) FI A aﬁma@wwwww%
T (R) ﬁéw(maﬁ)aﬁﬁmﬁaﬁjﬂmﬁq@@ﬁwwwm%l
e :
1) (A) 3R (R) S Terd 2 | ¢ ¢
() (A)TE TG R) T € [ '
(3) (A)W%W(R)vé%l; N
(4) (A) ¥R (R) < & € Y (R) T R0 T B

24. 3R (A) : ﬁhﬁﬁﬁﬁwiﬁa a1 T TN X F |
HRUT(R) ;| S &1 Shell AT TS & IRE herfeT Sca=1 il & |
,fzaﬁm)a;;m.ﬁm% (2) <Ml (A) 3R (R) §&l € 3R (R) &l 904 ¢
(3) (A)TE ¥ T (R) W v 7 2 4)  (A) T & AfE (R) 2 R

25. 3w (A) : .ﬁfr A % HUS HI T Ford 27fee HreH aTeft B
®NOT(R) ¢/ T H G W § TEICT A G Sedt waw sk gl ¥
g?ﬁ(A)aﬁT(R)H@%I (2) T (A) R (R) Tod €1
(3) (A) W&l T Afehd (R) Ted 2 | (4) (A) 7A€ WA (R) T T

s [N 1
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26.

27.

28.

29. .

s ]

Assertion (A) : A family functions as a system

Reason (R) : Itis a set of parts coordinated to accomplish a set of goals
Code :

(1) Both (A) and (R) are correct (2) Both (A) and (R) are incorrect
(3)  (A) is correct, but (R) is wrong  (4) (A) is wrong, but (R) is correct.

Assertion (A) : Juveniles in conflict with law are children below sixteen years of age who
have committed a crime. -.r‘

Reason (R) : Children who are less than 16 years are considered inngcent and pure and
are given less punishment for their crime.

Code : : y
(1) (A) is correct and (R) is incorrect d { _
(2) (A) and (R) are both incorrect | P E
(3)  (A) is correct but (R) is not the correct ?(planation _c')f (A)
(4) (A) and (R) are correct and (R) is the gorrect ixpla}hation of (A)

Assertion (A) : Androgogy is an art and Science of éching’chﬂdren

-

Reason (R) : Androgogy is basediqn understandlﬁg about adults and their designative
learning behav10urj’:r

Code : Y <

(1) Both (A) and (R) are correct

(2) Both (A) and (R) are incorrect

(3) (A) is correct, ahd (I? is incorrect

(4)  (A) is incorrect, and (R) is correct

‘4
Assertion (A) : .Learning is facilitated when a new behaviour contributes to satisfy felt needs
n the point of learners.

Reason (R) : Learning is facilitated when two or more sanses are used at a time by the
' learners.

Cocie : |

(1), Both (A) and (R) are correct and (R) is not the correct explanation for it.
(2) ‘:" (A) is correct and (R) is incorrect

(3) (5&) is incorrect and (R) is correct

(4) Both (A) and (R) are correct and (R) is the correct reason for it.

MV i
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26.

27.

28.

29,

SITURAT (A) : IRAR TF Faen & €9 H H1d F3dm T
WHIUT (R) : 3 T2 3190 &1 98 T 9= T2 @i 61 [0 w0 & fore gf=a foman sman 71

e :

1) (A) 3R (R) AT &t T 2) (A) 3R (R) SHi Tod 1

(B) (A) ¥ T T (R) TTerd & | (4) (A) 7T € g (R) et 2|

APIHYT (A): T8 AEH S 16@3%@&@%%@%@?%&%%?&%&1
faieft AT’ #ed € | L

HIT (R) : 16 I8 & FH 3T F STeTehi ! el TS gfas IH1 S &, T S Sh STUqe i
T 7 e S 7

%< '

(1) (A) ¥l T (R) TTerd B | 4 \

(2) (A) TS (R) T Terd B | '

)
() WFTARTTIR), A)FE ALY |
4) (A) ¥R (R) T & 91 (R), (A)amqghq@w? |

ARIFHIT (A): TSN ==l 1 T@M i wen au fomm el S

FHRUT (R) @ﬁwﬂamﬁamﬁéiﬁrmafw%qwﬁwﬁmaﬂwﬁa%
%e : </

(1) (A) iR ®) I A

) (A)ﬁi(R)ﬂﬁW%

() ()T ¥ R (R) T

(4) (A)W%&ﬁ?(}{)aﬁ*%n

SIURT (A): 4 AMFM (FF) 79 fHeTd § 59 T 741 SFeR I1 oF ara (e aret) &1 3 9
: Tegd foru S W 3u! e d 9 3 7

HNAUT (R) Aforta (F) 79 fireran & e 99 o8 AT (S 9 57 Th weE H S A @

sifurer gl w1 S9E faa ST 2
R |
(1) (A) 3R (R) I W& § IR (R) 38T T = & &
()" (A) FE # iR (R) Tomd B
3)  (A) T § R (R) TR B
(4) (A) 3R (R) I 92 § IR (R) TR §&T R0 |

pass [[JHHANNAN :
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30.

31.

32.

Assertion (A) : When sample size is small and/ or data are badly skewed (so that assumption
of normality is doubtful) parametric methods are not applicable.

Reason (R) : In parametric tests we can assume that scores upon which our statistics are
based are normally distributed in the population.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are not correct r#
(3)  (A) is correct and (R) is incorrect | F
(4) (A) is incorrect and (R) is correct {
ki
1 {
Give the correct sequence for Marketing strategff ”
i i
(i) Promotion (i) Packing /(i) Analysing (iv) Developing
(v) Distribution (vi) Pricing { "'

\/

1) (@), (), (i), (), (v), (vi)

A

@) (), (vi), (v), (i), (i), (v) & L'
hii &

(3) (i), (@v), (), (vi), (v), @) A

4)  (v), (vi), (iv), (iii), (i), (i)
{ -

|

Arrange steps of planning diets in correct sequence
o

(i)  Determine RDA as per individual specific characteristics

(i) Decide on the menu
(iii) Calculate Nutritive value of diet and compare with RDA

(iv) Decide totlll food exchanges and distribute in different meals.
\

Cokdg :
(1) : @), (ii), (iil) and (iv) (2) (@), (iii), (ii) and (i)
(if) and (iii) (4) (i), (iii), (iv) and (i)
ST 1
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30. SR (A): W@ YT H1 SHR BT § ARVAT NS T4 T ¥ eadi ¢ (98 = =t
AT Hegqul o St §) rafers TG adi T T8l i ST ¥l g |

HRUT(R) : TAfcls T4 H, 39 Heq H hd ¢ o 9 Jraishl W AR Hiferat senfia
T o1 gl | 9= w9 9 faafa @9 §)

Fe
1) (A) 3R (R) AT 9t § 3R (R), (A) =1 W& =08 p
) (A) 3R (R) IHT 5t T T "(f‘
3) (A) Wl & N (R) Terd |

) (A) T € AR (R) el €|

(
@

4

31. T e i W ST A F 1 |
() WearE ) O (i) ﬁw@n"w ‘./ (iv) fofaa &
(v) foao (vi) whima fHuRo
Fe |
1) @), (), (@), @v), (v), (viy % @) 0, (vi), (v), (i), (i), (v)
(3) (i), (iv), (ii), (vi), (v), () (4)  (v), (vi), (iv), (iii), (i), (i)

32. YIS &l AT A %i'd{un"ﬁlﬁ TE %A H IR
(i) @wﬁaﬁﬁﬁw%wwﬁmaﬂﬁaﬁwﬁ|

f (i) o et e e
(iii) oo H Tl T TUMAT Y TR STRT STRELT, & Fardl e |
(rv)™ e e feer e ¢ oi 5 femore  wrd o ot it  feafen Y
AN
(1) (@) (i), (i) 3 (iv) (2) (i), (i), (i) 3 @)
(3) (i), (iv), (ii) 3 (iii) (4) (i), (i), (iv) 3 @)

pans ]

JE :
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33.

34.

35.

)
s ]

#
F

Give the correct sequence of steps in the preparation of quava jelly.
(i) Cut quavas in slices

(i) Cook quava slices for 40 -45 minutes

iii) filter the contents through muslin cloth without pressing

iv) Add sugar and acid to extract and cook.

Ty

(
(
(v) Perform sheet test for readiness.
(
(

vi) Perform alcohol test to find out pectin content (
vii) Fill the contents in sterilized bottle _ ! f
Code : v
1) (), (i), (iii), (v), (vi), (iv) and (vii) i { ";
@) (), (i), (i), (iv), (v), (vi) and (vii) 4% ]
() (), (i), (i), (vi), (iv), (v) and (vii) _;’f , ,"I
4) (), (i), (i), (v), @iv), (vi) and (vii) f \ (’;
Give the correct sequence of printingh , f a4l
() Drying a J @) fixing the dyestuff
(i) Washing off VA " (v) Preparation of printing Paste
(v) Preparation of fabric (vi) Printing of fabric
Code : !q ’{
1) (v), @v), (), (), (i), (i) (@) (v), (v), (@), (), (vi), (i)
(3) (), (i), (i), (iv), (v), (vi) ) (vi), (i), (i), (i), @v), (v)
Give the correct fequence for manufacturing of Rayon :
(i) ~ Shredding (i) Dissolving (iii) Xanthation
(i\? Ageing | (v) Steeping (vi) Spinning
Code :
1) @) G, (i), (), (v), (vi) @) (v), (@), (v), (i), (i), (vi)
(i), (i), (iv), (v), @), (vi) 4) (), (i), (dv), (i), i), (vi)
ATHARRCACI i
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33. STHECS i Sl 9H &1 fafy & =20 S 9E w1 ° s

(i)  STTES T FHaredl H He |

(i) STTES I FHAfeal H 40 -45 foTe T TohEd
(iii) ST Rl HEM HUS F T <= B o |
(iv) freEre & = &R o7 = R T |
(
(

v) A S & A v T Wl
vi) USRI T A H S % T Yok SR
(vii) THHOT I SEmER Tda™ § 25 |

e :

1) (@) G, (i), (v), (vi), (iv) 3R (vii) /'

2 () ), (i), (v), (v), (vi) SR (vii) x’.f

B) () Gi), (i), (vi), Gv), (v) i) [ \f

4) (), (i), (i), (v), (iv), (vi) 3R (vii) f;,

4 ' Al !

34. ©UE G %A AT .""H;‘r

() gEm VA (i) e e S

(iv) faf= o= =t T (v) IS & A

% !{ (

m<mmw®mw @) (), (v), (@), @), (vi), (i)

(3) - (i), (i), i) (iv), (v), (vi) @) (vi), (i), (i), (i), (v), (v)
3. Wﬁnﬁmﬁwf@mw

@ _TFS (if) s

o ®

T2y

M) @, (), i), (), (v), (v @ ), (), @), (i), (i), (vi)

@) (i), (i), (iv), (v), (@), (vi) @) (v), (i), (), (i), @), (vi)
s [N 17
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36.

37.

38.

39.

Arrange the steps involved in implementing a plan in the proper sequence.

(i)  Controlling (ii) Checking (iii) Activating

(iv) Adjusting (v) Facilitating.

Code :

W) () ) (i), (@), ) @) (i), @), (i), (), v)

(3) (i), @), (), (i), (v) @) () (i), (i), (v), (v)

Arrange in order of development of self concept. \ p
(i) Remembered self in the form of story develops {
(ii) Social comparison emerges [ f

(iii) Self concept includes abstract descriptions

(iv) Self recognition established . .
(v) Categorical self develops & { 'JE.

Code : »

D V), @), (@), (i), (i) (2) ,({‘j’){f (), (1), (i), (if)

(B)  (v), (), ), (i), (i) @ [av), (0, 0/ i), (i)

¥

The steps involved in ‘Problem-solving” used while Lﬁglemenﬁng an extension Programme
are : ¢

-

i)  Hypothesizing or proposing amexplanation. (

ii) Communicating Results | §

(

(

(iii) Becoming Aware of the 'Pliobf'ems
(iv) Drawing Conclusion *

(

v)  Experimenting - Testing Ideas.

Code : d -

(1) (i), @), (v) @), Gv) | (2) (i), @), (v), (v), (i)

(3) (i), (v), @), (i), (iv) 4) (i), (v), @), (iv), (i)
|

Arrange the following milestones in National development in the chronological order :
(i) National R\.f;,al Livelihood Mission.

(i) Right to Education Act

(ifi)= Right to Information Act

(iv) National ﬂural Employment Gurantee scheme

(V)II'- Swach Bharat Abhiyan

Codé :
M) @), G (), @), V) (2) (i), @v), (), (@), (v)
(@) (), (i), (i),@1v), (v) (4) (i), (v), (i), (iD), (iv)

) (
v [[JHEAATENN s
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36.

37.

38.

39.

pas ]

T A1 ! Thafad & 9 S |l i 3fad o A § Safead ST :
() FE=w we (i) S T (iii) oA HT
(iv) SAIhiad KTl (v) G M
e :
1) (), @), (i), (iv), (v) (2) (i), (i), (i), (iv), (v)
(3) (i), (i), (iv), (ii), (v) (4) (i) (i), (i), (iv), (v)
@ - 9R & fas™ &l HAFER fafen
(i) TF 1 FEA & T H T {
(i)  STTTH T HT Yhe B
(ili) T-HROn A STHd g e g g
(iv) T-Tea | 4 \
(v) gffEd ‘' o foem A ’
%= /
1) (v), (v), (3), (i), (i) 2) [ @), (:Xr (i)_-fI (i), (i)
(B)  (v), (), (@), (i), (iii) 4) | (@v), (W), ‘I@ (i), (ii)
TOR FEwY & fraraem %WWWW%WW‘%E@WW’% :
() IR T AT TR F EKRHEI @l !
(ii) HROMH ST \ 4 -
(iii) THENN ¥ SR e T
(iv) Tr=md fehrer «
(v) e =t yeeR -’Fﬁw
e : .
(1) (i), (1)) (), (iv) (2) (i), (@), (v), (v), (i)
;) (), (v), (D)), (v) (4) (i), (v), (i), (iv), (iii)
Tt e ¥ HEeqUl SIS Rl HIATIH{HE HH H A HITT -
(i) . U T ekt sty (i) Torem 1 stfe sAfufrem
(iif) = ST 1 st (iv) U U0 SR TR ThiA
(v;~ TS A AP
@
() @), (i), @), @), (v) (2) (i), (iv), (iD), (@), (v)
(3) (i), (iii), (i),(iv), (v) (4) (i), (v), (@), (i), (iv)
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40. Arrange in order the steps in testing for statistical significance :
(i)  Select the statistical test to be applied
(if) State the research question
(iii) Compute the test statistic

(iv) State the null and alternate hypothesis

(v) Compare the test statistic with the critical value . . J’/ )
(vi) Interpret the results. [ f
Code : ) ¢
) @) (), Gv), i), (v, ©) @ (), ), ), i) &), v
(B) (), (v), (), (v) (i), (vi) @ Gl Gv), @, (i), o), (v)

/0*5{ -

i I
|

/
41. Match the active component given in List - I with f;?;‘sources in List - I :

A

List - I List - II -
. %

a) Lycopene i Cloves

(a) Lycop - (j

(b) Flavonoids Vi (i) Turmeric

(c) Selenium (iii) Sea foods

(d) Vitamin E { :{ (iv) Garlic

(e) Coumarin (v) Tomatoes

‘4

(vi) Wheat germ
@ 6 © @
M) v 6 v GG

G @ ) @O () ()

@ © @ @) ) 6
paass |1

A 2

iv

) (
Il
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40. Gifersrg Fenedar A & T 93870 § 9raEl & 8 H FaRed ST
() Y9I foru 9 ot wiferswa adteron &1 5o

(i) Y G A

(i) IRI&IUT Mg 1 IR

(iv) ¥ TE Ahfesh TRETTT T HIA

(v) OIeTO YRS i ik Yo ok WY e L
(vi) oROTHT =t SR _f f
FE

@) (@), (i), (@), (i), (vi), (v) 2 ("7)( ), (¥), (vi)

3) (i), (iv), (i), (v), (i), (vi) }ﬁ{

41. I - 19 fou 9fsha =i 1 geit - Ilﬁmmw§?a%wagﬁﬁaaﬁﬁqz

Tt - 1 Tt - 11
A f
(a) TEHRIAE | "‘*(ix At
(b) EEHTEE V) e
(c) Tafafrem (iii) Tqfs @ e
d) fofm g ’{ (iv) @
(e) TqTﬁ'"'* (v) eZHR
, p (vi) TE T ST
. . f

@ B O @ @
) © O |G @) G
@) L0 O @) @) G
)T v O ) ()
) © ) G Vi) )

pass [N

I 2
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42. Match physiological group given in List I with RDA of protein (ICMR 2010) given in List II

List I List II
(@) 5yrsold girl (i  29.5 g./day
(b) 9 yrs old boy (i) 60 g /day
(c) 16 yrs old girl (iii) 20.1 g /day .
(d) Adult male (iv) 78 g/day  a
(e) Pregnant women (v) 68 g/day L
(vi) 55.5 g/day { f
Code -
@ B © @ T .
M) G O &) @) @) (1)
@ ) @) &) 0 @) f// | |
@) G O @ @)
@ G 0 ) () ) ‘ /
43. Match the persons in List - I with t}llgof’ies proposed 1'1: List - II :
List - I h? 4 List - I1
(a) Vroom - (i)  Goal theory
(b) Herzbergs (i) E.R.G. theory
(c) Locke i :{ (iii) Equity theory
(d) Maslow $ (iv) Expectancy theory
(e) Alderfc;]rill (v) Two factor theory
jf (vi) Hiearchy of needs
Code :
@ ® e @ @
a oo @ @ )
QWG @@ 6 @) ©)
@ ® © O ) 6
@ v @ G @ O
g [T 2 Faper
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42. g 1 ¥ fou s (frfosiientsen) w98 & gt 11§ fou wfed & emELT. (31690811

2010) o 1 Gaferd i |
Tl 1 T 11
(a) 5ad & oASH! () 29./5 m/fw
(b) 9 TH HT ASH (i) 60.0 W/<FH
() 16 T &I TSH! (iii) 20.1 W/IFH r
d) =T TEN (iv) 78.0 W/ L
(e) Toferdt mfgen (v) 68.0 u/ Tk J f
(vi) 55.5 W/<fw
®RE : 4 "E.
@ () () (@ (e ' P
1) @) @ (vi) @) (iv) f/j( i
@ @ @ &) 6 @ / \
@) @) @@ G Gv) V) '
4) @) @@ (i) (@) V) "/ .
43. g - 19 fou =fw=m =00 g - gﬁﬁmﬁwﬁaéar?ﬁ%magﬁmﬁm|
gt - 1 1 [ gEt-1I
(@ 9= () & fagra
(b) eStertE “. . (i) 3.3 fagr
(c) s . . | (iti)  3forerdt/wwar fagr
(OIS I (iv) wefya fagr
C) Teelhl  # v) fg &= fagm=
f (vi) STereFehdl st AT TGl
%e : \
@ ® [© @ (e
(1) @ @) (v () (vi)
2 L@ @) @ @) (v
3) dv) <v> <i> (vi) (i)
(4) @iv) ()
s | I\“||\|H|\IIIH\II|H|||\H||H|\ 2
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44. Match the items from List - I with their description in List - II :

List - I List - II
(a) Body suit (i) Garment that hangs like a skirt but is actually pants.
(b) Culottes (ii) pants reaching below the knee
(c) Caftan (iii) One piece fitted garment
(d) Breaches (iv) Long full robe with a slit 'F y

(v) small skirt attached at waist { y

Code :

@ O © @ <N\ 7
M @ 6 ¢ @) 28 Y
@ @ @ 6 ) !f ¥
@) ) O () ) [ \
@ v ) ) 0 \ /

e -
45. Match the counts given in List -1{ w‘kth"cheir explanation given in List - II :

List - I T List - II
(a) Cotton count " (i) Number of 1 km hanks that weigh 9 Kg
(b)  Woollen count (i) Number of 560 yard hanks that weigh 1 Pb
(c) worsted count { (iii) Number of 300 yard hanks that weigh 1 Pb
(d)  Metric cdi;lnt (iv) Number of 840 yard hanks that weigh 1 Pb

/ 45 (v)  Number of 1 Km hanks that weigh 1 Kg

Code : f r

(@ (b) |(c) (d)
(11 (v) () F(iD) (v)
@G @ ) (@)
@ ® @ @
@) Gv) @) @) (V)

yaans AN 2
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44, G - 1¥ U U o =01 et - 11 H ST W 37 i § gafea ST :
et - 1 et - 11

(a) et gE (i) UAEH § AfHA T it TE TAeehel B
(b) ™ (i) TN F A TF A ATl T
(c) A (iii) Tk @S fmfce a&
CORRELESS! (iv) T&Ie o a1y o qu I« g
(v) &R WM SR Whe { r
He :
(@ (b) (o) (d) e
M @ 0 @ 4 B *
(2 (@) Gv) @ (i) 4 !
© ) O @ G / \
(4) (v) (i) (v) (@)
'
45, Tt - 1% Fow T e A W - 11 A T S (R e
gt - 1 \ ":* a__’{ 'Hjﬁ - 11
(a) HA FEe = (i) e asE H T fhel WX awsht aestEl & Se
(b) Tt FEHe (i) T IS a5 | 560 TS TFITE Tosidl si S
(c) =S FEe ‘: ( (i) Teh UHE o5 H 300 TS Tl AT i T
d) #fe=m W“\f (iv) TH e g | 840 T oWl AA=S41 hi HEAT
. (v) T& el av ¥ t& forall HieX e i d=sl &t
A

@ (0 [© (@
@, ® @) ©)
@ a6 o
@) @) @) (@ W)
(

4
pass ]

v)

(
Il

ii)

(
i

i)

I s
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46. Match items in List - I with its characteristics in List - II :

List - I
(@) Vertical lines
(b) Horizontal lines
(c) Curved lines
(d) Diagonal lines
Code :

@ () (9
1) @) (v) ()
(2)  (v) () @)
@ @O @G @)
@) () (Gv) (i)

(d)
(iv)
(i)
(ii)
v)

47. Match List - I with List - IT :

List -1

(c) Down Syndrome

(d) Phenylkeionuria

@ ()
af @ @ "
@'y ) G 6
@) @ @ o
@ @ @

)
yans [JHHTHANN

a) Klinefelter Syndrome .
)

Turner Syndro}%‘le -

|

)

%\
</
A

List - II
gracefulness
Movement
Rest
Activity

Exitement

List - II
trisomy 21
XXy

X0

Xyy

Inability to metabolize auinoacid
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46. e - 11 ol - 11 % 912 Gafad Hifeg

e - 1 Tt - 11
(a) SEAHR W@ (@) el
(b)  &¥fersiter g (i) e ()
(c) TRTHR @Y (iif) STRH
(d) Hita (v) Tt /.
(v) e f F
FHe -
@ b (© (@ ;
O @ © 6@ @ 4
@ v W) @ G [\ |
@) @ (@) @) (i)
@) @ ) @@ o \ /
47. G - 161 G - 11 foam =X ;“ (
T - 1 1? < T - 10
(a) FAETHeR fHgm " ()  erEEm 21
(b) =RfEgm o (i) TFH.TFEAE
(c) T fHgm { (iii) T3,
(d) frrrer T (v) AR
| ‘f (v) S aTeel % T ) S
He -
' (a) ®) |© @
1 & @6 o
(H() i) @) )
@ @ @ O
@ @) @ © 0
s TN ;
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48. Match the type of puppets in List-I with the state in which it is most popular given in List-II :

List - I List - II
(a) Glove puppets (i) Rajasthan
(b) Rod puppets (i) Andhra Pradesh
(c) Shadow puppets (iii) West Bengal
(d) String puppets (iv) Orissa i
(v) Assam 'f; )
Code f r
@@ () (o (d) i
L ) @ @ 'J. ’ f
2) Gv) (v) (D) (i) " B % |
@) Gv) @) ) () ;f( 5
@ @ G © [ | |

49. Match the basic area of self awarness as described by'éhan’g window given in List - I with
its explanation in List - II : -y

A (
List - I £ List - II
.

(a) The open self Vi (%) All you know about your self and others.

(b) The Blind self - (i) All you know of yourself but dont let others know.

()  The unknown self. (iii) All behaviour, attitude feelings that you know about

{ yourself and others also know about you.
(d) The Hidden self (iv) Information about yourself that others know but you
d dont.
&

) 2 (v)  Those parts of yourself about which neither you nor
{ f others know.

Code :

~ (@) (b) .I (¢ (d)

a @ o fe o
@'\ ) @ ) @
@) @ O @ @
@ @ v @ W
v [[JHEAATENN 2
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48. g - [ ¥ fIU MU Feqdelt % YHR H ger - 11 H U T &% T & gafaa FifSe &t o s

QIR
Tt - 1 T - 11
(a) T qdait (FSqad) (i uSERmN
(b) < (i) S
(c) BT gaal (it) afe=™ s
(d) el gl (v) s /
(v) SfEm { f
%<
@@ (b) (9 (d) -
@ v O @ . (
2) (@v) (v) (@) (i) A ”
() (v) (D) @) () £
4) (v) @) ) @) f

49.

W—Iﬁﬁqmﬁ%ﬁﬁ@maw&hwﬁaamvlé

% UVl & k1 e el - I <

"I":éi S'FIEIﬁ = 9 aﬁﬁq | % ¢ r ’
et - 1 W | et - 11
(@) e ST Vi (?) o€ G S 379 T Ue gEd ok 9N H 9 €
(b) 3TERY AfwA " (i) 9 W % IR H T A & AR Rl R B off T
< ST S
() oTF =Afea { ( (iii) STIER, ¥, A 3 T S 19 T F TR H WA €,
| 8 TR ot ST |
(d) gﬁwﬁ'ﬂiﬁr (iv) TF & IR H S gE S § wAfeha e 7 S |
' ‘f (v) 3T e & o fewd 9 IR § 7 &9 Sd § A
TE |
Fe -
@ ®) '@ @
1), @) @) @) 0
(2) ¥ @) @) (v) ()
@ @) G G @)
4 @) (v) () (@)
s AN 2
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50. Match the symbols in List - I with its statistic in List - II :

List - I List - II
(@ X (i) Chisquare
(b) o (i) Population mean
() W (iii) Sample mean e
(d S (iv) Standard deviation of sample _.ﬁ ,,/
(e r (v) standard deviation of populatioinl r.
f) X2 (vi) Standard score
(vii) Pearson’s Correlation. . =«
Code { (

@@ () ( @ (( (@ f/ _.'

1) @) @v) (vi) (@)  (vii) (i) [ l\ /
@ ) © @ @ ) 0 /
(@) (i) (v) (v (v) (vii) (1)‘ K r' il
4) (i) (v) @) (v) @) < (Zf)
Vi
" ~000-

wass [N 0
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50. e - ¥ fSU Uciiehl 0l ot - 11§ SHeh! AT o 912 GAfAad hiag

el - 1
(@ X
(b) o
@ »
d S
() r
H x2
e :
(@ () (o
1) @G)  @Gv) (vi)
(2) @) (v) ()
(3) (i) (iv) (vi)
4 (v (v) ()
{
‘4
|
Ill.

pass [[JHHANNAN

Tt - 11
- T
A H1e
gfaest e
A fa=ed gfiee

(e) @ f \ |

/
(vii) (iii) \ /
(vii) (i) __ /
(vii) (D)% ¢ (
() @
LY

-00o0-
31
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Space For Rough Work
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